WWW.jmap.org Name

© 202 2 Kuta Software LL C. All rights reserved.

Calculus Practice: Average Rate of Change 1a

For each problem, find the average rate of change of the function over the given interval.

) f(x)=x>+1; [0,2] 2) y=x>+x+1; [-3,0]
A) 8 B) 1 A) -2 B) -6
C) 2 D) -1 C) 6 D) 0

3) f(x)=—2x+x+1; [-1,1] 4) f(x)=2x>+x+2; [0,1]
A) 2 B) -4 A) -9 B) 6
C) 1 D) -2 O 3 D) _%

5) f(x)=x>-1; [1,2]
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For each problem, find the equation of the secant line that intersects the given points on the

function.
1) f(x)=x*+2; (0,2),(2. 6) 12) y=-2+1; (-1,-1), (0, 1)
A)y:_lx+2 B) y=—x+2 A) y=4x+3 B) y=6x+5
2 1.3
C) y=—>X—-— D) y=2x+1
C) y=4x+2 D) y=2x+2 "o
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13) f(x)=—2x>+x-2; (-1,-5),(0,-2)

A) y=-12x-17
C) y=3x-2

B) y=6x+1
3 17
D) y=—Xx-——
) Y=,

15) y=2x>-2x+2; (-1,6),(2,6)

A) y=6
117
B) y=—2X+—
L S
C) y=—4x+2
111
D) y=——x+—
) Y=—ox+

© 2 022 Kuta Software LLZC.

All rights reser ved.

14) f(x)=x>—x+2; (-1,4),(1,2)

A) y=—x+3
1 15
B) y:—zx+7
1 13
O)] y=§x+?
1 11
D) y=—§X+?

w)y=~2(h—0(z—1)
X 2
1 9
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)y )y eX g
1 3
C) y=-1 D) y=—Xx-—
)Y )Y ) 5

1 1 1
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0t (2
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)Y 10 5
1 3
B) y=—X-—
)y 5 10
3
=——X—-—
)Y 10 5
1
=—X—-—
)y 10 5
1 1
20 =" 29__3 39__
)Y ( J( J
A) y=—xX-=
5
B) y=—72X+—
)Y p
@) ———x+l
= 2
D) ———x+l
= 6
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Calculus Practice: Average Rate of Change 1a

For each problem, find the average rate of change of the function over the given interval.

) f(x)=x>+1; [0,2] 2) y=x>+x+1; [-3,0]
A) 8 B) 1 *A) =2 B) -6

*C) 2 D) -1 C) 6 D) 0
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For each problem, find the equation of the secant line that intersects the given points on the

function.
1) f(x)=x*+2; (0,2),(2,6) 12) y=-2x2+1; (=1,-1), (0, 1)
A) y=—2x+2  B) y=-x+2 M YHI B y=nes
2 O y:——x—E *D) y=2x+1

C) y=4x+2 *D) y=2x+2 2
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13) f(x)=—2x>+x-2; (-1,-5),(0,-2)

A) y=-12x-17
*C) y=3x-2

B) y=6x+1
3 17
D) y=—Xx-——
) Y=,

15) y=2x>-2x+2; (-1,6),(2,6)

*A) y=6
B) y:—%x+%
C) y=—4x+2

D) y:—%x+12—1
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14) f(x)=x>—x+2; (-1,4),(1,2)

*A) y=—x+3
1 15

B) y=—X+—
) Y= X+,
113
C) y=—X+—
) y=3x4
111
D) y=——X+—
) Y =-x

w)y=~2(h—0(z—1)

X 2
A) y=2x-3 B) y:éx—
) y=-1 *D)y:%x—

1 1
18) f(x)=-— T (—1,—5), (2,—

5
B) y= x+6
C B 1
) y= x+2
1
D) y=——"X+—
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